&3

£
[=]

MJ5PM8000

o

5 Panel Mirror
Installation Instructions

What’s in the box:

e 5 Panel Mirror * 1 x Long M8 Bolt

e 2 x Bracket * 4 x M8 Lock Washer

* 2 xAngle Bracket * 4 x M8 Hex Nut

e 2xKnob e 4 x Phillips Head Screw
e 2 x Short M8 Bolt

1. Use Angle Bracket as guide to mark pilot holes for Screws.
2. Drill two small (7/64”) pilot holes in car frame just below canopy.
Repeat steps 1 and 2 on opposite side of car.

£ Drill Pilot Holes
& \

3. Use Two Screws to attach Angle Bracket to car frame.

4. Attach slide bracket to angle bracket. Insert small carriage bolt through slide bracket and angle
bracket. Place lock washer on end of bolt. Thread nut as shown and tighten.

Repeat steps 3 and 4 on opposite side of car.

©2011 MadJax



5. Insert large carriage bolt through hole at end of mirror as shown.

6. Put end of bolt through slide bracket. Place lock washer through end of bolt. Thread knob onto bolt
and and tighten.

Repeat steps 5 and 6 on opposite side of car.

Assembled and Installed 5 Panel Mirror.

©2011 MadJax



